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1. �	
N<�O	?9@A	3���	�����	�B==���
����
�������	8�+	�7�����
:	= 
  1.1 ?9@A	3���	�����	�B==���
����
�������	8�+	�7�����
:	=  

1) �,:�;��( 
+��B�����(�&��1�=&3��,:�;��(���#�1
1�������4#��� 64 �$' 4�5)<��1%%

����)'4������#4$	� 7 <,#4#��� %7�%$#'	7�)'������	
����#,� /%�3� �(4@(/�?���1%%����4�5
+7��'3�
)'4������#0�1�1
1�������4#�����B�)���,:�;��(0���3���$'�
3����'$

7�&$>4��

8(�( (P<0.05) 0�3"�3���(4@(/��3���1��3���1%%����4�5+7��'3�
)'4������#0�1�1
1�������
4#��� 625�<,#4#���4�5 1.2 ()<�
��������.'4��
�1���
#�3���$%4��
�
�% 0�1���#) ��
&3�
��
,#�43��$% 28 o6. �������&��<,#4#���4�5 1.3 ()<�
��������.')
/��
�(��
�%�3���$% 
ceramic 0�1 ammonia chip) ��&3��43��$% 27.8 o6. 
3�'<,#4#�����5'`��&3��57�
,#�43��$'&�� 
27.6 o6. (�����;�&B'�� � 4�5 1) 

�,:�;��(4�5�1
1������(5���'���4#�����&3��43��$'&�� 27.0 o6. 0�1���,:�;��(
�/(5�?2	'+'82��1
1�������4#��� 8 �$' -#
��&3��
�3)'<3�� 27.5-28.0 o6. �3����,:�;��()'0�3�1
<,#4#����#��+'82�4�5�1
1�������4#��� 20 �$' 625���&3��
�3)'<3�� 26.5-27.0 o6. 0�1�/(5�

��?2	'���&�$	�4�5�1
1�������4#��� 24 �$' ��$�+��'$	'0'�-'���,:�;��(�#��+'82�4�5�1
1����
���4#��� 52 �$' -#
4,�<,#4#������,:�;��(�43��$'&�� 26.0 o6. 0�1��0'�-'���/(5�
��?2	'+'82�
4�5�1
1�������4#��� 64 �$' -#
<,#4#���4�5 1.2 ��&3�
��
,#�43��$% 28.8 o6. �������&��<,#
4#���4�5 1.3 
3�'<,#4#�����5'` ��&3��43��$'&�� 28.5 o6. (���4�5 8) 


$���1
(4@(n
�
$�/$'@=�1��3���,:�;��(�$%�$�0��&,:;�/'	7���5')'0�3�1<,#
4#������#�1
1�������4#��� 64 �$' /%�3� �,:�;��(��&���
$�/$'@=)'�$�9:10��B�B$'
0�10��B$'����$%�$�0��&,:;�/'	7���5'`0���3���$')'0�3�1<,#4#��� 
����'<,#4#���4�5 1.2 
0�1 1.7 625��,:�;��("�3��&���
$�/$'@=�$%�$�0��&,:;�/'	7���5'` (�����;�&B'�� � 4�5 2-8) 
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���4�5 8 &3��P��5
�,:�;��()''	7�4�5%7�%$##��
�1%%����4�5+7��'3�
)'4������#���#�1
1�������

4#��� 64 �$' 
���
���,  
     *      )'�1
1�����#�
��$'&3��P��5
)'0�3�1<,#4#���0���3���$'�
3����'$

7�&$>4��
8(�( (P<0.05) 

<,#4#���4�5 1.1 )<�
��������.'���# 500 �. �3���$%4��
�
�% 500 �. 0�14��
�1���
# 500 �. 
<,#4#���4�5 1.2 )<�
��������.'4��
�1���
# 500 �. �3���$%4��
�
�% 500 �. 0�1���# 500 �. 
<,#4#���4�5 1.3 )<�
��������.')
/��
�(��
�% 1 0B3' �3���$% ceramic 300 �. 0�1 ammonia 

chip 300 �. 
<,#4#���4�5 1.4 )<�
��������.')
/��
�(��
�% 1 0B3' �3���$% zeolite 250 �. 0�183�'�$��$'�= 

200 �. 
<,#4#���4�5 1.5 )<�
��������.')
/��
�(��
�% 1 0B3' �3���$% bioball 37 ��� 
<,#4#���4�5 1.6 )<�
��������.'4��
&�1?'�# 500 �. �3���$%)
/��
�(�?�� 2 0B3' 0�183�'

�1���1/���� 200 �. 
<,#4#���4�5 1.7 )<�
��������.'�V9�1���$� 300 �. �3���$% ammonia chip 300 �. 0�183�'�$��$'�= 

200 �. 
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2) &�����.'��#-#3��  
+��B�����(�&��1�=&3�&�����.'��#-#3�����#�1
1�������4#��� 64 �$' 4�5

)<��1%%����)'4������#4$	� 7 <,#4#��� %7�%$#'	7�)'������	
����#,� /%�3� �1%%����4�5
+7��'3�
)'4������# �1
1�������4#��� 0�1�(4@(/��3���1��3���1%%����4�5+7��'3�
)'
4������#0�1�1
1�������4#�����B�)��&�����.'��#-#3��0���3���$'�
3����'$

7�&$>4��

8(�( (P<0.05) -#
<,#4#���4�5 1.7 ()<�
��������.'�V9�1���$��3���$% ammonia chip 0�1
83�'�$��$'�=) ��&3�
��
,#�43��$% 7.89 
3�'<,#4#���4�5 1.5 ()<�
��������.')
/��
�(��
�%
�3���$% bioball) ��&3��57�
,#�43��$% 6.38 (�����;�&B'�� � 4�5 1) 

&�����.'��#-#3��4�5�1
1������(5���'���4#�����&3��43��$'&�� 7.97 0�����
0'�-'���/(5�?2	'+'82��1
1�������4#��� 8 �$' -#
��&3��
�3)'<3�� 8.16-8.53 �3���4�5�1
1����
���4#��� 20 82� 64 �$' &�����.'��#-#3����0'�-'���#���
3���3��'�5��)'<,#4#���4�5 1.3 ()<�

��������.')
/��
�(��
�%�3���$% ceramic 0�1 ammonia chip) <,#4#���4�5 1.4 ()<�
��
������.')
/��
�(��
�%�3���$% zeolite 0�183�'�$��$'�=) 0�1<,#4#���4�5 1.5 ���5�
(	'
,#���
4#�����&�����.'��#-#3���43��$% 5.20, 5.39 0�1 5.18 ����7�#$% 
3�'&�����.'��#-#3����
0'�-'���/(5�?2	')'<,#4#���4�5 1.1 ()<�
��������.'���#�3���$%4��
�
�% 0�14��
�1���
#) 
<,#4#���4�5 1.2 ()<�
��������.'4��
�1���
#�3���$%4��
�
�% 0�1���#) 0�1<,#4#���4�5 
1.7 ���5�
(	'
,#���4#�����&�����.'��#-#3���/(5�?2	'��.' 8.18, 8.31 0�1 8.49 ����7�#$% (���4�5 
9 (�)) 


$���1
(4@(n
�
$�/$'@=�1��3��&�����.'��#-#3���$%�$�0��&,:;�/'	7���5')'0�3
�1<,#4#������#�1
1�������4#��� 64 �$' /%�3� &�����.'��#-#3��)'4,�<,#4#�����
&���
$�/$'@=)'�$�9:10��B$'����$%&�����.'#3��4$	���# 0�10��B�B$'�$%"'���4 
����' 
<,#4#���4�5 1.2 0�1 1.7 ��&���
$�/$'@=)'�$�9:10��B$'����$%"'���4 (�����;�&B'�� � 
4�5 2-8) 
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3) &�����.'#3��4$	���# 
+��B�����(�&��1�=&3�&�����.'#3��4$	���#���#�1
1�������4#��� 64 �$' 

4�5)<��1%%����)'4������#4$	� 7 <,#4#��� %7�%$#'	7�)'������	
����#,� /%�3� �1%%����4�5
+7��'3�
)'4������# �1
1�������4#��� 0�1�(4@(/��3���1��3���1%%����4�5+7��'3�
)'
4������#0�1�1
1�������4#�����B�)��&�����.'#3��4$	���#0���3���$'�
3����'$

7�&$>4��

8(�( (P<0.05) -#
<,#4#���4�5 1.7 ()<�
��������.'�V9�1���$��3���$% ammonia chip 0�1
83�'�$��$'�=) ��&3�
��
,#�43��$% 79 ��./�. 
3�'<,#4#���4�5 1.3 ()<�
��������.')
/��
�(�
�
�%�3���$% ceramic 0�1 ammonia chip) ��&3��57�
,#�43��$% 14 ��./�. (�����;�&B'�� � 4�5 
1) 

&�����.'#3��4$	���#4�5�1
1������(5���'���4#�����&3��43��$'&�� 43 ��./�. 
0�1��&3��/(5�?2	'+'82�4�5�1
1�������4#��� 12 �$' -#
��&3��
�3)'<3�� 42-76 ��./�. �3���4�5
�1
1�������4#��� 16 �$' &�����.'#3��4$	���#)'4,�<,#4#�����&3��/(5�?2	' -#
��&3��
�3)'<3�� 
76-86 ��./�. 
����' <,#4#���4�5 1.3 <,#4#���4�5 1.4 ()<�
��������.')
/��
�(��
�%�3���$% 
zeolite 0�183�'�$��$'�=) 0�1<,#4#���4�5 1.5 ()<�
��������.')
/��
�(��
�%�3���$% bioball) 
��&3��#������� 24, 40 0�1 41 ��./�. ����7�#$% ��$�+��'$	'&3�&�����.'#3��4$	���#�#��4,�
<,#4#���4�5�1
1�������4#��� 20 82� 28 �$' 
����' <,#4#���4�5 1.7 0�34�5�1
1�������
4#��� 32 82� 64 �$' &3�&�����.'#3��4$	���#)'0�3�1<,#4#�����0'�-'���/(5�?2	' 
����' <,#
4#���4�5 1.3, 1.4 0�1 1.5 ��&3�&�����.'#3��4$	���#����5
'0���)'��(��:��D�'��
 -#

����5
'0����
�3)'<3�� 2-5 ��./�. (���4�5 9 (?)) 


$���1
(4@(n
�
$�/$'@=�1��3��&�����.'#3��4$	���#�$%�$�0��&,:;�/'	7���5')'
0�3�1<,#4#������#�1
1�������4#��� 64 �$' /%�3� &�����.'#3��4$	���#)'4,�<,#4#���
��&���
$�/$'@=)'�$�9:10��B$'����$%&�����.'��#-#3�� (�����;�&B'�� � 4�5 2-8) 
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���4�5 9 &3��P��5
 (�) &�����.'��#-#3��0�1 (?) &�����.'#3��4$	���#)''	7�4�5%7�%$##��
�1%%

����4�5+7��'3�
)'4������#���#�1
1�������4#��� 64 �$' 
���
���,  
     *      )'�1
1�����#�
��$'&3��P��5
)'0�3�1<,#4#���0���3���$'�
3����'$

7�&$>4��
8(�( (P<0.05) 

<,#4#���4�5 1.1 )<�
��������.'���# 500 �. �3���$%4��
�
�% 500 �. 0�14��
�1���
# 500 �. 
<,#4#���4�5 1.2 )<�
��������.'4��
�1���
# 500 �. �3���$%4��
�
�% 500 �. 0�1���# 500 �. 
<,#4#���4�5 1.3 )<�
��������.')
/��
�(��
�% 1 0B3' �3���$% ceramic 300 �. 0�1 ammonia 

chip 300 �. 
<,#4#���4�5 1.4 )<�
��������.')
/��
�(��
�% 1 0B3' �3���$% zeolite 250 �. 0�183�'�$��$'�= 

200 �. 
<,#4#���4�5 1.5 )<�
��������.')
/��
�(��
�% 1 0B3' �3���$% bioball 37 ��� 
<,#4#���4�5 1.6 )<�
��������.'4��
&�1?'�# 500 �. �3���$%)
/��
�(�?�� 2 0B3' 0�183�'

�1���1/���� 200 �. 
<,#4#���4�5 1.7 )<�
��������.'�V9�1���$� 300 �. �3���$% ammonia chip 300 �. 0�183�'�$��$'�= 

200 �. 
 

(�) 

(?) 
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4) ���6(�+'�1��
'	7�  
+��B�����(�&��1�=��(��:���6(�+'�1��
'	7����#�1
1�������4#��� 64 

�$' 4�5)<��1%%����)'4������#4$	� 7 <,#4#��� %7�%$#'	7�)'������	
����#,� /%�3� �1%%����4�5
+7��'3�
)'4������# �1
1�������4#��� 0�1�(4@(/��3���1��3���1%%����4�5+7��'3�
)'
4������#0�1�1
1�������4#�����B�)�����6(�+'�1��
'	7�0���3���$'�
3����'$

7�&$>4��

8(�( (P<0.05) -#
<,#4#���4�5 1.1 ()<�
��������.'���#�3���$%4��
�
�% 0�14��
�1���
#) 
<,#4#���4�5 1.2 ()<�
��������.'4��
�1���
#�3���$%4��
�
�% 0�1���#) <,#4#���4�5 1.3 
()<�
��������.')
/��
�(��
�%�3���$% ceramic 0�1 ammonia chip) <,#4#���4�5 1.5 ()<�

��������.')
/��
�(��
�%�3���$% bioball) 0�1<,#4#���4�5 1.7 ()<�
��������.'�V9
�1���$��3���$% ammonia chip 0�183�'�$��$'�=) ��&3�
��
,#�43��$'&�� 6.3 ��./�. 
3�'<,#
4#���4�5 1.6 ()<�
��������.'4��
&�1?'�#�3���$%)
/��
�(�?�� 0�183�'�1���1/����) ��
&3��57�
,#�43��$% 6.1 ��./�. (�����;�&B'�� � 4�5 1) 

���6(�+'�1��
'	7�4�5�1
1������(5���'���4#�����&3��43��$'&�� 8.0 ��./�. 0�1
����(��:���6(�+'�1��
'	7�����5
'0����/�
���D�'��
+'82��1
1�������4#��� 8 �$' -#
��
�������5
'0����
�3)'<3�� 7.8-8.1 ��./�. ��$�+��'$	'��(��:���6(�+'�1��
'	7�)'0�3�1<,#
4#�����0'�-'���#���
3���3��'�5��+'+%���4#���4�5�1
1���� 64 �$' 0�1)'0�3�1<,#4#���
����(��:���6(�+'�1��
'	7��57�
,#�
�3)'<3�� 3.4-4.3 ��./�. (���4�5 10) 


$���1
(4@(n
�
$�/$'@=�1��3�����6(�+'�1��
'	7��$%�$�0��&,:;�/'	7���5')'
0�3�1<,#4#������#�1
1�������4#��� 64 �$' /%�3� ���6(�+'�1��
'	7�)'4,�<,#4#�����
&���
$�/$'@=)'�$�9:10��B�B$'�$%%�-�#� "'���4 0�1?��0?D�0?�'��
4$	���# (�����
;�&B'�� � 4�5 2-8) 
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���4�5 10 &3��P��5
��(��:���6(�+'�1��
'	7�)''	7�4�5%7�%$##��
�1%%����4�5+7��'3�
)'4������#
���#�1
1�������4#��� 64 �$' 

���
���,  
     *      )'�1
1�����#�
��$'&3��P��5
)'0�3�1<,#4#���0���3���$'�
3����'$

7�&$>4��
8(�( (P<0.05) 

<,#4#���4�5 1.1 )<�
��������.'���# 500 �. �3���$%4��
�
�% 500 �. 0�14��
�1���
# 500 �. 
<,#4#���4�5 1.2 )<�
��������.'4��
�1���
# 500 �. �3���$%4��
�
�% 500 �. 0�1���# 500 �. 
<,#4#���4�5 1.3 )<�
��������.')
/��
�(��
�% 1 0B3' �3���$% ceramic 300 �. 0�1 ammonia 

chip 300 �. 
<,#4#���4�5 1.4 )<�
��������.')
/��
�(��
�% 1 0B3' �3���$% zeolite 250 �. 0�183�'�$��$'�= 

200 �. 
<,#4#���4�5 1.5 )<�
��������.')
/��
�(��
�% 1 0B3' �3���$% bioball 37 ��� 
<,#4#���4�5 1.6 )<�
��������.'4��
&�1?'�# 500 �. �3���$%)
/��
�(�?�� 2 0B3' 0�183�'

�1���1/���� 200 �. 
<,#4#���4�5 1.7 )<�
��������.'�V9�1���$� 300 �. �3���$% ammonia chip 300 �. 0�183�'�$��$'�= 

200 �. 
 
5) %�-�#� 
+��B�����(�&��1�=��(��:%�-�#����#�1
1�������4#��� 64 �$' 4�5)<��1%%

����)'4������#4$	� 7 <,#4#��� %7�%$#'	7�)'������	
����#,� /%�3� �1%%����4�5+7��'3�
)'
4������# �1
1�������4#��� 0�1�(4@(/��3���1��3���1%%����4�5+7��'3�
)'4������#0�1
�1
1�������4#�����B�)��%�-�#�0���3���$'�
3����'$

7�&$>4��
8(�( (P<0.05) -#
<,#4#���
4�5 1.7 ()<�
��������.'�V9�1���$��3���$% ammonia chip 0�183�'�$��$'�=) ��&3�
��
,#�43��$% 
6.2 ��./�. 
3�'<,#4#���4�5 1.5 ()<�
��������.')
/��
�(��
�%�3���$% bioball) ��&3��57�
,#
�43��$% 2.6 ��./�. (�����;�&B'�� � 4�5 1) 
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%�-�#�4�5�1
1������(5���'���4#�����&3��43��$'&�� 0.5 ��./�. 0�������5
'0���
�/�
���D�'��
+'82�4�5�1
1�������4#��� 8 �$' +��'$	'��(��:%�-�#�)'0�3�1<,#4#�����
0'�-'���/(5�?2	' -#
<,#4#���4�5 1.1 ()<�
��������.'���#�3���$%4��
�
�% 0�14��

�1���
#) 0�1<,#4#���4�5 1.2 ()<�
��������.'4��
�1���
#�3���$%4��
�
�% 0�1���#) ��
&3�
��
,#�43��$'&�� 4.9 ��./�. 
3�'<,#4#���4�5 1.6 ()<�
��������.'4��
&�1?'�#�3���$%)

/��
�(�?�� 0�183�'�1���1/����) ��&3��57�
,#�43��$% 3.5 ��./�. ��$�+���1
1�������
4#��� 16 �$' ��(��:%�-�#�)'0�3�1<,#4#�����0'�-'���#��+'82�4�5�1
1�������4#��� 36 
�$' -#
<,#4#���4�5 1.1 ��&3�
��
,#�43��$% 2.1 ��./�. 
3�'<,#4#���4�5 1.5 ��&3��57�
,#�43��$% 1.0 
��./�. 0�����(��:%�-�#�)'0�3�1<,#4#����/(5�
��?2	'���5�
` +'82�4�5�1
1�������4#��� 64 �$' 
-#
<,#4#���4�5 1.7 ��&3�
��
,#�43��$% 17.9 ��./�. 
3�'<,#4#���4�5 1.5 ��&3��57�
,#�43��$% 5.9 
��./�. (���4�5 11 (�)) 


$���1
(4@(n
�
$�/$'@=�1��3��%�-�#��$%�$�0��&,:;�/'	7���5')'0�3�1<,#4#���
���#�1
1�������4#��� 64 �$' /%�3� %�-�#�)'4,�<,#4#�����&���
$�/$'@=)'�$�9:1
0��B�B$'�$%���6(�+'�1��
'	7� 0�10��B$'����$%"'���4 0�1?��0?D�0?�'��
4$	���# 
(�����;�&B'�� � 4�5 2-8) 

6) ?��0?D�0?�'��
4$	���# 
+��B�����(�&��1�=&3��P��5
��(��:?��0?D�0?�'��
4$	���#���#�1
1����

���4#��� 64 �$' 4�5)<��1%%����)'4������#4$	� 7 <,#4#��� %7�%$#'	7�)'������	
����#,� /%�3� 
�1%%����4�5+7��'3�
)'4������# �1
1�������4#��� 0�1�(4@(/��3���1��3���1%%����4�5
+7��'3�
)'4������#0�1�1
1�������4#�����B�)��?��0?D�0?�'��
4$	���#0���3���$'
�
3����'$

7�&$>4��
8(�( (P<0.05) -#
<,#4#���4�5 1.2 ()<�
��������.'4��
�1���
#�3���$%
4��
�
�% 0�1���#) ��&3�
��
,#�43��$% 37.4 ��./�. 
3�'<,#4#���4�5 1.3 ()<�
��������.')

/��
�(��
�%�3���$% ceramic 0�1 ammonia chip) ��&3��57�
,#�43��$% 17.1 ��./�. (�����
;�&B'�� � 4�5 1) 
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���4�5 11 &3��P��5
 (�) ��(��:%�-�#�0�1 (?) ?��0?D�0?�'��
4$	���#)''	7�4�5%7�%$##��
�1%%
����4�5+7��'3�
)'4������#���#�1
1�������4#��� 64 �$' 

���
���,  
     *      )'�1
1�����#�
��$'&3��P��5
)'0�3�1<,#4#���0���3���$'�
3����'$

7�&$>4��
8(�( (P<0.05) 

<,#4#���4�5 1.1 )<�
��������.'���# 500 �. �3���$%4��
�
�% 500 �. 0�14��
�1���
# 500 �. 
<,#4#���4�5 1.2 )<�
��������.'4��
�1���
# 500 �. �3���$%4��
�
�% 500 �. 0�1���# 500 �. 
<,#4#���4�5 1.3 )<�
��������.')
/��
�(��
�% 1 0B3' �3���$% ceramic 300 �. 0�1 ammonia 

chip 300 �. 
<,#4#���4�5 1.4 )<�
��������.')
/��
�(��
�% 1 0B3' �3���$% zeolite 250 �. 0�183�'�$��$'�= 

200 �. 
<,#4#���4�5 1.5 )<�
��������.')
/��
�(��
�% 1 0B3' �3���$% bioball 37 ��� 
<,#4#���4�5 1.6 )<�
��������.'4��
&�1?'�# 500 �. �3���$%)
/��
�(�?�� 2 0B3' 0�183�'

�1���1/���� 200 �. 
<,#4#���4�5 1.7 )<�
��������.'�V9�1���$� 300 �. �3���$% ammonia chip 300 �. 0�183�'�$��$'�= 

200 �. 

(�) 

(?) 
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��(��:?��0?D�0?�'��
4$	���#4�5�1
1������(5���'���4#�����&3��43��$'&�� 
2.2 ��./�. 0�1����5
'0����/�
���D�'��
+'82�4�5�1
1�������4#��� 8 �$' +��'$	'��(��:
?��0?D�0?�'��
4$	���#)'0�3�1<,#4#�����0'�-'���/(5�?2	'+'82�4�5�1
1�������4#��� 16 
�$' -#
��&3��
�3)'<3�� 6.1-25.0 ��./�. �3�����(��:?��0?D�0?�'��
4$	���#��0'�-'���#��
+'82�4�5�1
1�������4#��� 36 �$' �D��0'�-'���/(5�?2	'��� 
����' <,#4#���4�5 1.5 ()<�
������
��.')
/��
�(��
�%�3���$% bioball) 0�1<,#4#���4�5 1.6 ()<�
��������.'4��
&�1?'�#
�3���$%)
/��
�(�?�� 0�183�'�1���1/����) ��&3��/(5�?2	'�
�3)'<3�� 7.4-14.0 ��./�. ��$�+��
'$	'��(��:?��0?D�0?�'��
4$	���#)'0�3�1<,#4#����/(5�
��?2	'+'82�4�5�1
1�������4#��� 
64 �$' -#
<,#4#���4�5 1.2 ��&3�
��
,#�43��$% 132.7 ��./�. 
3�'<,#4#���4�5 1.3 ��&3��57�
,#
�43��$% 39.8 ��./�. (���4�5 11 (?)) 


$���1
(4@(n
�
$�/$'@=�1��3��?��0?D�0?�'��
4$	���#�$%�$�0��&,:;�/'	7�
��5')'0�3�1<,#4#������#�1
1�������4#��� 64 �$' /%�3� ?��0?D�0?�'��
4$	���#)'4,�
<,#4#�����&���
$�/$'@=)'�$�9:10��B�B$'�$%���6(�+'�1��
'	7� 0�10��B$'����$%%�-�#� 
0�1"'���4 (�����;�&B'�� � 4�5 2-8) 

7) 0��-��'�
��� 
+��B�����(�&��1�=��(��:0��-��'�
����1��3��<,#4#������#�1
1����

���4#��� 64 �$' 4�5)<��1%%����)'4������#4$	� 7 <,#4#��� %7�%$#'	7�)'������	
����#,� /%�3� 
�1%%����4�5+7��'3�
)'4������# �1
1�������4#��� 0�1�(4@(/��3���1��3���1%%����4�5
+7��'3�
)'4������#0�1�1
1�������4#�����B�)��0��-��'�
���0���3���$'�
3����
'$

7�&$>4��
8(�( (P<0.05) -#
<,#4#���4�5 1.5 ()<�
��������.')
/��
�(��
�%�3���$% 
bioball) ��&3�
��
,#�43��$% 1.412 ��./�. 
3�'<,#4#���4�5 1.7 ()<�
��������.'�V9�1���$�
�3���$% ammonia chip 0�183�'�$��$'�=) ��&3��57�
,#�43��$% 0.393 ��./�. (�����;�&B'�� � 4�5 
1) 

0��-��'�
���4�5�1
1������(5���'���4#�����&3��43��$'&�� 0.026 ��./�. 0���
����5
'0����/�
���D�'��
+'82�4�5�1
1�������4#��� 8 �$' 0�1�/(5�?2	'�
3����#��D�+'82�4�5
�1
1�������4#��� 16 �$' -#
<,#4#���4�5 1.6 ()<�
��������.'4��
&�1?'�#�3���$%)

/��
�(�?�� 0�183�'�1���1/����) ��&3�
��
,#�43��$% 3.922 ��./�. 
3�'<,#4#���4�5 1.3 ()<�

��������.')
/��
�(��
�%�3���$% ceramic 0�1 ammonia chip) ��&3��57�
,#�43��$% 0.536 
��./�. +��'$	'��(��:0��-��'�
�����0'�-'���#���
3����#��D�4�5�1
1�������4#��� 24 �$' 
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0�1�#��+'+%���4#���4�5�1
1���� 64 �$' -#
��&3��
�3)'<3�� 0.147-0.277 ��./�. 
����' <,#
4#���4�5 1.3  <,#4#���4�5 1.4 ()<�
��������.')
/��
�(��
�%�3���$% zeolite 0�183�'�$�
�$'�=) 0�1<,#4#���4�5 1.5 ��&3��/(5�?2	'�
�3)'<3�� 2.464-3.584 ��./�. (���4�5 12 (�)) 


$���1
(4@(n
�
$�/$'@=�1��3��0��-��'�
����$%�$�0��&,:;�/'	7���5')'0�3�1
<,#4#������#�1
1�������4#��� 64 �$' /%�3� 0��-��'�
���)'4,�<,#4#�����
&���
$�/$'@=)'�$�9:10��B�B$'�$%"'���4 
����' <,#4#���4�5  1.3, 1.4 0�1 1.5 ��
&���
$�/$'@=)'�$�9:10��B$'����$%"'���4 (�����;�&B'�� � 4�5 2-8) 

8) "'"��4= 
+��B�����(�&��1�=��(��:"'"��4=�1��3��<,#4#������#�1
1�������

4#��� 64 �$' 4�5)<��1%%����)'4������#4$	� 7 <,#4#��� %7�%$#'	7�)'������	
����#,� /%�3� 
�1%%����4�5+7��'3�
)'4������# �1
1�������4#��� 0�1�(4@(/��3���1��3���1%%����4�5
+7��'3�
)'4������#0�1�1
1�������4#�����B�)��"'"��4=0���3���$'�
3����'$

7�&$>4��

8(�( (P<0.05) -#
<,#4#���4�5 1.7 ()<�
��������.'�V9�1���$��3���$% ammonia chip 0�1
83�'�$��$'�=) ��&3�
��
,#�43��$% 1.546 ��./�. 
3�'<,#4#���4�5 1.5 ()<�
��������.')
/��
�(�
�
�%�3���$% bioball) ��&3��57�
,#�43��$% 0.536 ��./�. (�����;�&B'�� � 4�5 1) 

"'"��4=4�5�1
1������(5���'���4#�����&3��43��$'&�� 0.008 ��./�. 0�����
0'�-'���/(5�?2	'��D�'��
+'82�4�5�1
1�������4#��� 8 �$' -#
��&3��
�3)'<3�� 0.031-0.434   
��./�. +��'$	'��(��:"'"��4=)'0�3�1<,#4#����/(5�?2	'�
3����#��D�+'82�4�5�1
1�������
4#��� 20 �$' -#
��&3��
�3)'<3�� 2.778-7.795 ��./�. 
����' <,#4#���4�5 1.3 ()<�
��������.'
)
/��
�(��
�%�3���$% ceramic 0�1 ammonia chip) 0�1<,#4#���4�5 1.4 ()<�
��������.'
)
/��
�(��
�%�3���$% zeolite 0�183�'�$��$'�=) ��&3��#�� �3�����(��:"'"��4=)'0�3�1<,#
4#�����0'�-'���#��+'82�4�5�1
1�������4#��� 36 �$' -#
��&3��
�3)'<3�� 0.132-0.675  
��./�. ��$�+��'$	'��(��:"'"��4=��0'�-'���#��<��`+'+%���4#���4�5�1
1���� 64 �$' 

����'<,#4#���4�5 1.3, 1.4 0�1<,#4#���4�5 1.5 ��&3��/(5�?2	'��.' 1.024, 0.632 0�1 0.956   
��./�. ����7�#$% (���4�5 12 (?)) 


$���1
(4@(n
�
$�/$'@=�1��3��"'"��4=�$%�$�0��&,:;�/'	7���5')'0�3�1<,#
4#������#�1
1�������4#��� 64 �$' /%�3� "'"��4=)'<,#4#���4�5 1.3, 1.4 0�1 1.5 ��
&���
$�/$'@=)'�$�9:10��B$'����$%%�-�#� 0�10��B�B$'�$%&�����.'��#-#3��)'<,#4#���4�5 
1.1, 1.2 0�1 1.7 (�����;�&B'�� � 4�5 2-8) 
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���4�5 12 &3��P��5
��(��: (�) 0��-��'�
��� (?) "'"��4= 0�1 (&) "'���4)''	7�4�5%7�%$##��
�1%%
����4�5+7��'3�
)'4������#���#�1
1�������4#��� 64 �$' 

���
���,  
     *      )'�1
1�����#�
��$'&3��P��5
)'0�3�1<,#4#���0���3���$'�
3����'$

7�&$>4��
8(�( (P<0.05) 

<,#4#���4�5 1.1 )<�
��������.'���# 500 �. �3���$%4��
�
�% 500 �. 0�14��
�1���
# 500 �. 
<,#4#���4�5 1.2 )<�
��������.'4��
�1���
# 500 �. �3���$%4��
�
�% 500 �. 0�1���# 500 �. 
<,#4#���4�5 1.3 )<�
��������.')
/��
�(��
�% 1 0B3' �3���$% ceramic 300 �. 0�1 ammonia 

chip 300 �. 

(�) 

(?) 

(&) 
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<,#4#���4�5 1.4 )<�
��������.')
/��
�(��
�% 1 0B3' �3���$% zeolite 250 �. 0�183�'�$��$'�= 
200 �. 

<,#4#���4�5 1.5 )<�
��������.')
/��
�(��
�% 1 0B3' �3���$% bioball 37 ��� 
<,#4#���4�5 1.6 )<�
��������.'4��
&�1?'�# 500 �. �3���$%)
/��
�(�?�� 2 0B3' 0�183�'

�1���1/���� 200 �. 
<,#4#���4�5 1.7 )<�
��������.'�V9�1���$� 300 �. �3���$% ammonia chip 300 �. 0�183�'�$��$'�= 

200 �. 
 

9) "'���4 
  +��B�����(�&��1�=��(��:"'���4���#�1
1�������4#��� 64 �$' 4�5)<�
�1%%����)'4������#4$	� 7 <,#4#��� %7�%$#'	7�)'������	
����#,� /%�3� �1%%����4�5+7��'3�

)'4������# �1
1�������4#��� 0�1�(4@(/��3���1��3���1%%����4�5+7��'3�
)'4������#
0�1�1
1�������4#�����B�)��"'���40���3���$'�
3����'$

7�&$>4��
8(�( (P<0.05) -#
<,#
4#���4�5 1.3 ()<�
��������.')
/��
�(��
�%�3���$% ceramic 0�1 ammonia chip) ��
&3�
��
,#�43��$% 28.02 ��./�. 
3�'<,#4#���4�5 1.6 ()<�
��������.'4��
&�1?'�#�3���$%)

/��
�(�?�� 0�183�'�1���1/����) ��&3��57�
,#�43��$% 19.65 ��./�. (�����;�&B'�� � 4�5 1) 

��(��:"'���44�5�1
1������(5���'���4#�����&3��43��$'&�� 1.17 ��./�. 0�1
�/(5�?2	'�
3��<��`+'82�4�5�1
1�������4#��� 16 �$' -#
��&3��
�3)'<3�� 2.24-6.64 ��./�.
��$�+��'$	'��(��:"'���4��0'�-'���/(5�?2	'�
3����#��D�+'+%���4#���4�5�1
1�������
4#��� 64 �$' -#
<,#4#���4�5 1.3 <,#4#���4�5 1.4 ()<�
��������.')
/��
�(��
�%�3���$% 
zeolite 0�183�'�$��$'�=) 0�1<,#4#���4�5 1.5 ()<�
��������.')
/��
�(��
�%�3���$% bioball) 
��&3�
��82� 61.95, 60.82 0�1 60.69 ��./�. ����7�#$% 
3�'<,#4#�����5'`��&3��
�3)'<3��   
41.94-57.45 ��./�. (���4�5 12 (&)) 


$���1
(4@(n
�
$�/$'@=�1��3��"'���4�$%�$�0��&,:;�/'	7���5')'0�3�1<,#
4#������#�1
1�������4#��� 64 �$' /%�3� "'���4)'4,�<,#4#�����&���
$�/$'@=)'
�$�9:10��B�B$'�$%���6(�+'�1��
'	7� 0�10��-��'�
��� 
����' <,#4#���4�5 1.3, 1.4 0�1 
1.5 ��&���
$�/$'@=)'�$�9:10��B$'����$%0��-��'�
��� 0�1)'0�3�1<,#4#�����
&���
$�/$'@=)'�$�9:10��B$'����$%%�-�#� 0�1?��0?D�0?�'��
4$	���# (�����;�&B'�� � 
4�5 2-8) 
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1.2 �B

	�	
��
4P�
4�Q
 
+��B�����(�&��1�=�$�������+�(>��(%-�?�����#,����#�1
1�������

4#��� 64 �$' 4�5)<��1%%����)'4������#4$	� 7 <,#4#��� %7�%$#'	7�)'������	
����#,� /%�3�    
0�3�1<,#4#���"�3��&���0���3���$'�
3����'$

7�&$>4��
8(�( (P>0.05) -#
<,#4#���4�5 1.1 
()<�
��������.'���#�3���$%4��
�
�% 0�14��
�1���
#) ���$�������+�(>��(%-�
��
,#�43��$% 
8.91 �./�$' 
3�'<,#4#���4�5 1.6 ()<�
��������.'4��
&�1?'�#�3���$%)
/��
�(�?�� 0�1
83�'�1���1/����) ���$�������+�(>��(%-��57�
,#�43��$% 7.39 �./�$' (���4�5 13) 
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���4�5 13 �$�������+�(>��(%-�?�����#,� (&3��P��5
0�1 SD) 4�5���	
�)'���4#���0�1%7�%$#'	7�#��

�1%%����4�5+7��'3�
)'4������#���#�1
1�������4#��� 64 �$' 

 

1.3 �B

	�	
�C:�����	8	
�CR������  
+��B�����(�&��1�=�$����������5
'�������.'�'�	�?�����#,����#�1
1����

���4#��� 64 �$' 4�5)<��1%%����)'4������#4$	� 7 <,#4#��� %7�%$#'	7�)'������	
����#,� /%�3� 
0�3�1<,#4#���"�3��&���0���3���$'�
3����'$

7�&$>4��
8(�( (P>0.05) -#
<,#4#���4�5 1.6 
()<�
��������.'4��
&�1?'�#�3���$%)
/��
�(�?�� 0�183�'�1���1/����) ���$������
����5
'�������.'�'�	�
��
,#�43��$% 0.25 
3�'<,#4#���4�5 1.1 ()<�
��������.'���#�3���$%4��

�
�% 0�14��
�1���
#) ���$����������5
'�������.'�'�	��57�
,#�43��$% 0.21 (���4�5 14) 
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���4�5 14 �$����������5
'�������.'�'�	�?�����#,� (&3��P��5
0�1 SD) 4�5���	
�)'���4#���0�1
%7�%$#'	7�#��
�1%%����4�5+7��'3�
)'4������#���#�1
1�������4#��� 64 �$' 

 

1.4 
���9�M��
����
�� 
+������(�&��1�=��&���'4,'?���1%%����4�5+7��'3�
)'4������# 4$	� 7 <,#

4#��� /%�3� )'0�3�1<,#4#�����&���0���3���$'�
3����'$

7�&$>4��
8(�( (P<0.05) -#
<,#
4#���4�5 1.6 ()<�
��������.'4��
&�1?'�#�3���$%)
/��
�(�?�� 0�183�'�1���1/����) ��
��&��57�
,#�43��$% 105.40 %�4 
3�'<,#4#���4�5 1.7 ()<�
��������.'�V9�1���$��3���$% 
ammonia chip 0�183�'�$��$'�=) ����&�
��
,#�43��$% 162.00 %�4 (�����;�&B'�� � 4�5 10)  

 

1.5 
�����:	����
4�5��4=�	
�9=
B�M��
����
�� 
+��B�����(�&��1�=�1
1����4�5 ��(5���(#����,#�$'?���1%%�������#

�1
1�������4#��� 64 �$' 4�5)<��1%%����4�5+7��'3�
)'4������#4$	� 7 <,#4#��� %7�%$#'	7�)'
������	
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6) ?��0?D�0?�'��
4$	���# 
+��B�����(�&��1�=��(��:?��0?D�0?�'��
4$	���#���#�1
1�������

4#��� 64 �$' -#
)<��1%%����0%%0%&4����
���1�(#4�5�1#$%&����'�?��)
/��
�(��
�%
0���3���$' 4 <,#4#��� %7�%$#'	7�)'������	
����#,� /%�3� &����'�?��)
/��
�(��
�% 
�1
1�������4#��� 0�1�(4@(/��3���1��3��&����'�?��)
/��
�(��
�%0�1�1
1�������
4#�����B�)����(��:?��0?D�0?�'��
4$	���#0���3���$'�
3����'$

7�&$>4��
8(�( (P<0.05) 
-#
<,#4#���4�5 3.1 ()<�)
/��
�(��
�%�'�&�25�0B3') ��&3�
��
,#�43��$% 32.4 ��./�. 
3�'<,#
4#���4�5 3.4 ()<�)
/��
�(��
�%�'� 3 0B3') ��&3��57�
,#�43��$% 21.2 ��./�. (�����;�&B'�� 
� 4�5 23) 

?��0?D�0?�'��
4$	���#4�5�1
1������(5���'���4#�����&3��43��$'&�� 1.7   
��./�. 0�1����5
'0����/�
���D�'��
+'82�4�5�1
1�������4#��� 8 �$' 0�����&3��/(5�?2	'+'82�4�5
�1
1�������4#��� 20 �$' -#
<,#4#���4�5 3.1 ��&3�
��
,#�43��$% 41.7 ��./�. 
3�'<,#4#���4�5 
3.3 ()<�)
/��
�(��
�%�'� 2 0B3') ��&3��57�
,#�43��$% 34.0 ��./�. +��'$	'��(��:?��0?D�
0?�'��
4$	���#��0'�-'���#��+'82�4�5�1
1�������4#��� 36 �$' -#
��&3��
�3)'<3�� 12.3-
19.0 ��./�. 0�����0'�-'���/(5�?2	'+'82�4�5�1
1�������4#��� 52 �$' -#
���
�3)'<3�� 41.2-53.2 
��./�. ��$�+��'$	'��(��:?��0?D�0?�'��
4$	���#��0'�-'���#��+'+%���4#���82�4�5
�1
1���� 64 �$' 
����'<,#4#���4�5 3.3 0�1<,#4#���4�5 3.4 ��&3��#������� 29.3 0�1 27.1 
��./�. (���4�5 25 (?)) 


$���1
(4@(n
�
$�/$'@=�1��3��?��0?D�0?�'��
4$	���#�$%�$�0��&,:;�/'	7�
��5')'0�3�1<,#4#������#�1
1�������4#��� 64 �$' /%�3� ?��0?D�0?�'��
4$	���#)'4,�
<,#4#�����&���
$�/$'@=)'�$�9:10��B�B$'�$%&�����.'��#-#3�� &�����.'#3��4$	���# 
���6(�+'�1��
'	7� 0�10��B$'����$%%�-�#� 0�1"'���4 (�����;�&B'�� � 4�5 24-27) 
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7) 0��-��'�
��� 
+��B�����(�&��1�=��(��:0��-��'�
������#�1
1�������4#��� 64 �$' 

-#
)<��1%%����0%%0%&4����
���1�(#4�5�1#$%&����'�?��)
/��
�(��
�%0���3���$' 4 <,#
4#��� %7�%$#'	7�)'������	
����#,� /%�3� &����'�?��)
/��
�(��
�% �1
1�������4#��� 
0�1�(4@(/��3���1��3��&����'�?��)
/��
�(��
�%0�1�1
1�������4#�����B�)����(��:
0��-��'�
���0���3���$'�
3����'$

7�&$>4��
8(�( (P<0.05) -#
<,#4#���4�5 3.1 ()<�)

/��
�(��
�%�'�&�25�0B3') ��&3�
��
,#�43��$% 0.254 ��./�. 
3�'<,#4#���4�5 3.4 ()<�)

/��
�(��
�%�'� 3 0B3') ��&3��57�
,#�43��$% 0.211 ��./�. (�����;�&B'�� � 4�5 23) 

��(��:0��-��'�
4�5�1
1������(5���'���4#�����&3��43��$'&�� 0.006 ��./�. 
0�1����5
'0�����D�'��
+'82�4�5�1
1�������4#��� 8 �$' 0�����(��:0��-��'�
�/(5�?2	'�
3��
��#��D�+'82�4�5�1
1�������4#��� 16 �$' -#
<,#4#���4�5 3.1 ��&3�
��
,#�43��$% 2.013 ��./�. 

3�'<,#4#���4�5 3.4 ��&3��57�
,#�43��$% 0.605 ��./�. +��'$	'0��-��'�
)'0�3�1<,#4#����#��
�
3����#��D�4�5�1
1�������4#��� 20 �$' 0�1�#��+'82� 28 �$' -#
��&3��
�3)'<3�� 0.036-
0.076 ��./�. 0�1��(��:0��-��'�
�/(5�?2	'���&�$	�4�5�1
1�������4#��� 32 �$' -#
��&3��
�3
)'<3�� 0.070-0.543 ��./�. �3�����(��:0��-��'�
)'4,�<,#4#�����0'�-'���#��+'82�4�5
�1
1�������4#��� 52 �$' 
����'<,#4#���4�5 3.1 ��$�+��'$	'��(��:0��-��'�
�/(5�?2	'4�5
�1
1�������4#��� 56 �$' 0�1�#��4�5 64 �$' -#
<,#4#���4�5 3.2 ()<�)
/��
�(��
�%�'� 1 
0B3') ��&3�
��
,#�43��$% 0.251 ��./�. 
3�'<,#4#���4�5 3.3 ()<�)
/��
�(��
�%�'� 2 0B3') ��
&3��57�
,#�43��$% 0.168 ��./�. (���4�5 26 (�)) 


$���1
(4@(n
�
$�/$'@=�1��3��0��-��'�
����$%�$�0��&,:;�/'	7���5')'0�3�1
<,#4#������#�1
1�������4#��� 64 �$' /%�3� 0��-��'�
���)'<,#4#���4�5 3.1 0�1 3.2 
"�3��&���
$�/$'@=�$%4,��$�0��&,:;�/'	7� 0�3��&���
$�/$'@=)'�$�9:10��B$'����$%?��0?D�
0?�'��
)'<,#4#���4�5 3.3 0�1 3.4 0�10��B�B$'�$%&�����.'��#-#3�� 0�1&�����.'#3��
4$	���#)'<,#4#���4�5 3.4 (�����;�&B'�� � 4�5 24-27) 
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���4�5 26 &3��P��5
��(��: (�) 0��-��'�
��� (?) "'"��4= 0�1 (&) "'���4)''	7�4�5%7�%$##��
�1%%
����0%%0%&4����
���1�(#���#�1
1�������4#��� 64 �$' 

���
���, 
     *      )'�1
1�����#�
��$'&3��P��5
)'0�3�1<,#4#���0���3���$'�
3����'$

7�&$>4��
8(�( (P<0.05) 

<,#4#���4�5 3.1 )<�
��������.')
/��
�(��
�%�'�&�25�0B3' 
<,#4#���4�5 3.2 )<�
��������.')
/��
�(��
�%�'� 1 0B3' 
<,#4#���4�5 3.3 )<�
��������.')
/��
�(��
�%�'� 2 0B3' 
<,#4#���4�5 3.4 )<�
��������.')
/��
�(��
�%�'� 3 0B3' 

(?) 

(�) 

(&) 
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8) "'"��4= 
  +��B�����(�&��1�=��(��:"'"��4=�1��3��<,#4#������#�1
1�������
4#��� 64 �$' -#
)<��1%%����0%%0%&4����
���1�(#4�5�1#$%&����'�?��)
/��
�(��
�%
0���3���$' 4 <,#4#��� %7�%$#'	7�)'������	
����#,� /%�3� &����'�?��)
/��
�(��
�% 
�1
1�������4#��� 0�1�(4@(/��3���1��3��&����'�?��)
/��
�(��
�%0�1�1
1�������
4#�����B�)����(��:"'"��4=0���3���$'�
3����'$

7�&$>4��
8(�( (P<0.05) -#
<,#4#���4�5 
3.1 ()<�)
/��
�(��
�%�'�&�25�0B3') ��&3�
��
,#�43��$% 2.249 ��./�. 
3�'<,#4#���4�5 3.4 ()<�
)
/��
�(��
�%�'� 3 0B3') ��&3��57�
,#�43��$% 0.736 ��./�. (�����;�&B'�� � 4�5 23) 

"'"��4=4�5�1
1������(5���'���4#�����&3��43��$'&�� 0.004 ��./�. 0�1��&3�

��?2	'�
3��<��` +'82�4�5�1
1�������4#��� 12 �$' -#
��&3��
�3)'<3�� 0.306-0.457 ��./�. 0���
&3�
��?2	'�
3����#��D�+'82�4�5�1
1�������4#��� 20 �$' -#
<,#4#���4�5 3.1 ��&3�
��
,#�43��$% 
11.952 ��./�. 
3�'<,#4#���4�5 3.4 ��&3��57�
,#�43��$% 6.026 ��./�. +��'$	'��(��:"'"��4=)'
0�3�1<,#4#����#��+'82�4�5�1
1�������4#��� 32 �$' -#
��&3��
�3)'<3�� 0.019-0.055    
��./�. ��$�+��'$	'��(��:"'"��4=���������5
'0����/�
���D�'��
+'+%���4#���4�5�1
1���� 
64 �$' 0�1��&3��
�3)'<3�� 0.130-0.229 ��./�. (���4�5 26 (?)) 


$���1
(4@(n
�
$�/$'@=�1��3��"'"��4=�$%�$�0��&,:;�/'	7���5')'0�3�1<,#
4#������#�1
1�������4#��� 64 �$' /%�3� "'"��4=)'4,�<,#4#�����&���
$�/$'@=)'
�$�9:10��B�B$'�$%"'���4 (�����;�&B'�� � 4�5 24-27) 
 9) "'���4 

+��B�����(�&��1�=��(��:"'���4���#�1
1�������4#��� 64 �$' -#
)<�
�1%%����0%%0%&4����
���1�(#4�5�1#$%&����'�?��)
/��
�(��
�%0���3���$' 4 <,#
4#��� %7�%$#'	7�)'������	
����#,� /%�3� &����'�?��)
/��
�(��
�% �1
1�������4#��� 
0�1�(4@(/��3���1��3��&����'�?��)
/��
�(��
�%0�1�1
1�������4#�����B�)����(��:
"'���40���3���$'�
3����'$

7�&$>4��
8(�( (P<0.05) -#
<,#4#���4�5 3.4 ()<�)
/��
�(�
�
�%�'� 3 0B3')��&3�
��
,#�43��$% 35.95 ��./�. 
3�'<,#4#���4�5 3.1 ()<�)
/��
�(��
�%
�'�&�25�0B3') ��&3��57�
,#�43��$% 24.62 ��./�. (�����;�&B'�� � 4�5 23) 
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"'���44�5�1
1������(5���'���4#�����&3��43��$'&�� 8.26 ��./�. 0�1�����
����5
'0����/�
���D�'��
+'82�4�5�1
1�������4#��� 12 �$' -#
��&3��
�3)'<3�� 7.83-8.23  
��./�. ��$�+��'$	'��(��:"'���4�/(5�
��?2	'+'+%���4#���4�5�1
1���� 64 �$' -#
<,#4#���
4�5 3.4 ����(��:"'���4
��
,#�43��$% 74.53 ��./�. 
3�'<,#4#���4�5 3.1 ����(��:"'���4�57�
,#
�43��$% 60.80 ��./�. (���4�5 26 (&)) 


$���1
(4@(n
�
$�/$'@=�1��3��"'���4�$%�$�0��&,:;�/'	7���5')'0�3�1<,#
4#������#�1
1�������4#��� 64 �$' /%�3� "'���4)'4,�<,#4#�����&���
$�/$'@=)'
�$�9:10��B�B$'�$%&�����.'��#-#3�� &�����.'#3��4$	���# ���6(�+'�1��
'	7� "'"��4= 0�1
0��B$'����$%%�-�#� 0�1?��0?D�0?�'��
4$	���# (�����;�&B'�� � 4�5 24-27) 

 
3.2 C
45	@D�?���
��
�57����	D:��	
�
��  
1) ��(��:0%&4����
���)''	7� 
+��B�����(�&��1�=&3��P��5
��(��:0%&4����
���)''	7����#�1
1�������

4#��� 64 �$' -#
)<��1%%����0%%0%&4����
���1�(#4�5�1#$%&����'�?��)
/��
�(��
�%
0���3���$' 4 <,#4#��� %7�%$#'	7�)'������	
����#,� /%�3� &����'�?��)
/��
�(��
�% 
�1
1�������4#��� 0�1�(4@(/��3���1��3��&����'�?��)
/��
�(��
�%0�1�1
1�������
4#�����B�)����(��:0%&4����
���)''	7�0���3���$'�
3����'$

7�&$>4��
8(�( (P<0.05) -#
<,#
4#���4�5 3.1 ()<�)
/��
�(��
�%�'�&�25�0B3') ��&3�
��
,#�43��$% 2.6 X 105 CFU/ml 
3�'<,#
4#���4�5 3.4 ()<�)
/��
�(��
�%�'� 3 0B3') ��&3��57�
,#�43��$% 5.0 X 104 CFU/ml (�����
;�&B'�� � 4�5 28) 

0%&4����
���)''	7�4�5�1
1������(5���'���4#�����&3��43��$'&�� 4.3 X 102 
CFU/ml 0�1��&3��/(5�?2	'��D�'��
4�5�1
1�������4#��� 8 �$' +��'$	'��&3��/(5�?2	'�
3����#��D�
+'82�4�5�1
1�������4#��� 24 �$' -#
<,#4#���4�5 3.1 ��&3�
��
,#�43��$% 6.4 X 105 CFU/ml 

3�'<,#4#���4�5 3.4 ��&3��57�
,#�43��$% 1.2 X 105 CFU/ml �3���)'0�3�1<,#4#�������(��:
0%&4����
���)''	7��#���
3��<��` +'82�4�5�1
1�������4#��� 48 �$' -#
��&3��
�3)'<3��       
4.0 X 104 - 1.5 X 105 CFU/ml ��$�+��'$	'��(��:0%&4����
���)''	7�0�3�1<,#4#����/(5�
��?2	'
+'82�4�5�1
1�������4#��� 64 �$' -#
��&3��
�3)'<3�� 4.2 X 104 - 6.3 X 105 CFU/ml 
����'<,#
4#���4�5 3.3 ()<�)
/��
�(��
�%�'� 2 0B3') ��&3��#����.' 4.2 X 104 CFU/ml (���4�5 27) 
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���4�5 27 &3��P��5
��(��:0%&4����
���)''	7�4�5%7�%$##��
�1%%����0%%0%&4����
���1�(#���#

�1
1�������4#��� 64 �$' 
���
���, 
     *      )'�1
1�����#�
��$'&3��P��5
)'0�3�1<,#4#���0���3���$'�
3����'$

7�&$>4��
8(�( (P<0.05) 

<,#4#���4�5 3.1 )<�
��������.')
/��
�(��
�%�'�&�25�0B3' 
<,#4#���4�5 3.2 )<�
��������.')
/��
�(��
�%�'� 1 0B3' 
<,#4#���4�5 3.3 )<�
��������.')
/��
�(��
�%�'� 2 0B3' 
<,#4#���4�5 3.4 )<�
��������.')
/��
�(��
�%�'� 3 0B3' 

 
2) ��(��:0%&4����
���)'
������ 
+��B�����(�&��1�=&3��P��5
��(��:0%&4����
���)'
������?��0�3�1<,#

4#������#�1
1�������4#��� 64 �$' -#
)<��1%%����0%%0%&4����
���1�(#4�5�1#$%&���
�'�?��)
/��
�(��
�%0���3���$' 4 <,#4#��� %7�%$#'	7�)'������	
����#,� /%�3� &����'�
?��)
/��
�(��
�% �1
1�������4#��� 0�1�(4@(/��3���1��3��&����'�?��)
/��
�(�
�
�%0�1�1
1�������4#�����B�)����(��:0%&4����
���)'
������0���3���$'�
3����
'$

7�&$>4��
8(�( (P<0.05) -#
<,#4#���4�5 3.1 ()<�)
/��
�(��
�%�'�&�25�0B3') ��&3�
��
,#
�43��$% 9.8 X 106 CFU/ml 
3�'<,#4#���4�5 3.4 ()<�)
/��
�(��
�%�'� 3 0B3') ��&3��57�
,#
�43��$% 3.1 X 106 CFU/ml (�����;�&B'�� � 4�5 28) 
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��(��:0%&4����
���)'
������4�5�1
1������(5���'���4#�����&3��43��$'&�� 0 
CFU/ml 0�1��0'�-'���/(5�?2	'�
3����#��D�+'82�4�5�1
1�������4#��� 24 �$' -#
<,#4#���4�5 
3.1 ��&3�
��
,#�43��$% 4.5 X 107 CFU/ml 
3�'<,#4#���4�5 3.3 ()<�)
/��
�(��
�%�'� 2 0B3') 
��&3��57�
,#�43��$% 6.8 X 106 CFU/ml �3���4�5�1
1�������4#��� 32 �$' )'0�3�1<,#4#�����
��(��:0%&4����
���)'
�������#�� -#
��&3��
�3)'<3�� 4.0 X 105 - 3.5 X 106 CFU/ml 
��$�+��'$	'��(��:0%&4����
���)'
������?��0�3�1<,#4#�����0'�-'���/(5�?2	'�
3��<��` 
+'82�4�5�1
1�������4#��� 56 �$' 0����#�����5�+%���4#���4�5�1
1���� 64 �$' -#
<,#
4#���4�5 3.2 ()<�)
/��
�(��
�%�'� 1 0B3') ��&3�
��
,#�43��$% 5.7 X 106 CFU/ml 
3�'<,#
4#���4�5 3.1 ��&3��57�
,#�43��$% 1.8 X 106 CFU/ml (���4�5 28) 

 

  
 
���4�5 28 &3��P��5
��(��:0%&4����
���)'
������?���1%%����0%%0%&4����
���1�(#���#

�1
1�������4#��� 64 �$' 
���
���, 
     *      )'�1
1�����#�
��$'&3��P��5
)'0�3�1<,#4#���0���3���$'�
3����'$

7�&$>4��
8(�( (P<0.05) 

<,#4#���4�5 3.1 )<�
��������.')
/��
�(��
�%�'�&�25�0B3' 
<,#4#���4�5 3.2 )<�
��������.')
/��
�(��
�%�'� 1 0B3' 
<,#4#���4�5 3.3 )<�
��������.')
/��
�(��
�%�'� 2 0B3' 
<,#4#���4�5 3.4 )<�
��������.')
/��
�(��
�%�'� 3 0B3' 
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3) ��(��:0%&4����
���)'
������4�5�1#$%&����2�0���3���$' 3 �1#$% 
 +��B�����(�&��1�=&3��P��5
��(��:0%&4����
���)'
������?��<,#4#���4�5 

3.4 ()<�)
/��
�(��
�%�'� 3 0B3') 4�5���1#$%&����2�?��
������0���3���$' 3 �1#$% ���#
�1
1�������4#��� 64 �$' /%�3� &����2�?��
������ �1
1�������4#��� 0�1�(4@(/��3��
�1��3��&����2�?��
������0�1�1
1�������4#�����B�)����(��:0%&4����
���)'
������
0���3���$'�
3����'$

7�&$>4��
8(�( (P<0.05) 625�
������<$	'�3����&3�
��
,#�43��$% 4.9 X 106 
CFU/ml 
3�'
������<$	'%'��&3��57�
,#�43��$% 1.2 X 106 CFU/ml (�����;�&B'�� � 4�5 29) 

��(��:0%&4����
���)'
������?��<,#4#���4�5 3.4 4,��1#$%&����2� 4�5
�1
1������(5���'���4#�����&3��43��$'&�� 0 CFU/ml 0�1��0'�-'���/(5�?2	'�
3����#��D�+'82�4�5
�1
1�������4#��� 24 �$' -#
)
/��
�(��
�%<$	'�3����&3�
��
,#�43��$% 1.2 X 107 CFU/ml 

3�')
/��
�(��
�%<$	'%'��&3��57�
,#�43��$% 2.1 X 106 CFU/ml �3���4�5�1
1�������4#��� 
32 �$' )'0�3�1�1#$%&����2�?��
����������(��:0%&4����
���)'
�������#�� -#
��&3��
�3
)'<3�� 2.1 X 105 � 5.8 X 105 CFU/ml ��$�+��'$	'��(��:0%&4����
���)'
������4,�&����2�
��0'�-'���/(5�?2	'�
3��<��` +'82�4�5�1
1�������4#��� 56 �$' 0����#�����5�+%���4#���4�5
�1
1���� 64 �$' -#
)
/��
�(��
�%<$	'�3����&3�
��
,#�43��$% 5.2 X 106 CFU/ml 
3�')

/��
�(��
�%<$	'������&3��57�
,#�43��$% 8.7 X 105 CFU/ml (���4�5 29) 
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���4�5 29 &3��P��5
��(��:0%&4����
���)'<$	'
������0�3�1�1#$%&����2�?��<,#4#���4�5 3.4 
()<�)
/��
�(��
�%�'� 3 0B3') ���#�1
1�������4#��� 64 �$' 

���
���, 
     *      )'�1
1�����#�
��$'&3��P��5
)'0�3�1<,#4#���0���3���$'�
3����'$

7�&$>4��
8(�( (P<0.05) 

)
/��
�(��
�%<$	'%'?��<,#4#���4�5 3.4 ()<�)
/��
�(��
�%�'� 3 0B3') 
)
/��
�(��
�%<$	'����?��<,#4#���4�5 3.4 ()<�)
/��
�(��
�%�'� 3 0B3') 
)
/��
�(��
�%<$	'�3��?��<,#4#���4�5 3.4 ()<�)
/��
�(��
�%�'� 3 0B3') 

 

3.3 �B

	�	
��
4P�
4�Q
 
+��B�����(�&��1�=�$�������+�(>��(%-�?�����#,����#�1
1�������

4#��� 64 �$' -#
)<��1%%����0%%0%&4����
���1�(#4�5�1#$%&����'�?��)
/��
�(��
�%
0���3���$' 4 <,#4#��� %7�%$#'	7�)'������	
����#,� /%�3� )'0�3�1<,#4#�����&���0���3���$'
�
3����'$

7�&$>4��
8(�( (P<0.05) -#
<,#4#���4�5 3.3 ()<�)
/��
�(��
�%�'� 2 0B3') 0�1
<,#4#���4�5 3.4 ()<�)
/��
�(��
�%�'� 3 0B3') ���$�������+�(>��(%-�
��
,#�43��$'&�� 9.58 
�./�$' 
3�'<,#4#���4�5 3.2 ()<�)
/��
�(��
�%�'� 1 0B3') ���$�������+�(>��(%-��57�
,#
�43��$% 8.52 �./�$' (���4�5 30) 
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���4�5 30 �$�������+�(>��(%-�?�����#,� (&3��P��5
0�1 SD) 4�5���	
�)'���4#���0�1%7�%$#'	7�#��

�1%%����0%%0%&4����
���1�(#���#�1
1�������4#��� 64 �$' 

 

3.4 �B

	�	
�C:�����	8	
�CR������  
+��B�����(�&��1�=�$����������5
'�������.'�'�	�?�����#,����#�1
1����

���4#��� 64 �$' -#
)<��1%%����0%%0%&4����
���1�(#4�5�1#$%&����'�?��)
/��
�(�
�
�%0���3���$' 4 <,#4#��� %7�%$#'	7�)'������	
����#,� /%�3� )'0�3�1<,#4#�����&���
0���3���$'�
3����'$

7�&$>4��
8(�( (P<0.05) -#
<,#4#���4�5 3.2 ()<�)
/��
�(��
�%�'� 1 
0B3') ���$����������5
'�������.'�'�	�
��
,#�43��$% 0.24 
3�'<,#4#���4�5 3.3 ()<�)
/��
�(�
�
�%�'� 2 0B3') 0�1<,#4#���4�5 3.4 ()<�)
/��
�(��
�%�'� 3 0B3') ���$����������5
'
�������.'�'�	��57�
,#�43��$'&�� 0.21 (���4�5 31) 
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���4�5 31 �$����������5
'�������.'�'�	�?�����#,� (&3��P��5
0�1 SD) 4�5���	
�)'���4#���0�1
%7�%$#'	7�#��
�1%%����0%%0%&4����
���1�(#���#�1
1�������4#��� 64 �$' 

 

3.5 
���9�M��
����
�� 
+������(�&��1�=��&���'4,'?���1%%����0%%0%&4����
���1�(#4�5�1#$%&���

�'�?��)
/��
�(��
�%0���3���$' 4 <,#4#��� /%�3� )'0�3�1<,#4#�����&���0���3���$'
�
3����'$

7�&$>4��
8(�( (P<0.05) -#
<,#4#���4�5 3.1 ()<�)
/��
�(��
�%�'�&�25�0B3') ��
��&��57�
,#�43��$% 97.70 %�4 
3�'<,#4#���4�5 3.4 ()<�)
/��
�(��
�%�'� 3 0B3') ����&�

��
,#�43��$% 105.90 %�4 (�����;�&B'�� � 4�5 31) 

 

3.6 
�����:	����
4�5��4=�	
�9=
B�M��
����
�� 
+��B�����(�&��1�=�1
1����4�5 ��(5���(#����,#�$'?���1%%�������#

�1
1�������4#��� 64 �$' -#
)<��1%%����0%%0%&4����
���1�(#4�5�1#$%&����'�?��)

/��
�(��
�%0���3���$' 4 <,#4#���%7�%$#'	7�)'������	
����#,� /%�3� )'0�3�1<,#4#�����
&���0���3���$'�
3����'$

7�&$>4��
8(�( (P<0.05) -#
<,#4#���4�5 3.2 ()<�)
/��
�(��
�%
�'� 1 0B3') <,#4#���4�5 3.3 ()<�)
/��
�(��
�%�'� 2 0B3') 0�1<,#4#���4�5 3.4 ()<�)

/��
�(��
�%�'� 3 0B3') ���1
1����4�5��(5���(#����,#�$'?���1%%����
��
,#�����3� 64 �$' 

3�'<,#4#���4�5 3.1 ()<�)
/��
�(��
�%�'�&�25�0B3') ���1
1����4�5��(5���(#����,#�$'?��
�1%%�����57�
,#�43��$% 55.0 �$' (�����;�&B'�� � 4�5 31) 

 


